Cnuckn.

PYHKLUUU N MeTOoabI



Cnuncku B Python
- YNOPSAO0YEHHbIE NBMEHSIEMbIE
KONneKkunm o0 beKTOB
NMPON3BOSIbHbLIX TUMOB.



+

list[n]

list[x:y]

basoBkie onepauum
Oonepaus | —Hasnavewe — |~~~ Tpmep

KoHkaTeHauund
(cnoxeHue)

[dybnupoBaHue cnucka

[locTyn no nHaekcy

3BneveHue cpesa
(x-MHOEKC Ha4Yana cpesa
y-MHOEKC OKOHYaHU4
cpesa)

nomer=[12,34,56,32]
print(nomer+[78,98])
Pesynbrart: [12,34,56,32,78,98]

nomer=[12,34,56,32]

print(hnomer*2)

Peaynbrart: [12, 34, 23, 45, 12, 34, 23,
45]

nomer=[12,34,23,45]
print(nomer[2])
Pesynbrar: 23

nomer=[12,34,23,45]
print(nomer[0:2])
Pesynerat: 12,34



bas3oBble onepaunn

“

Max(list) MakcumarnbHbIn 9NIeMeHT  nomer=[12,34,23,45]
print(max(nomer))

Min(list) MuHUManbHbIV 3NEMEHT nomer=[12,34,23,45]
print(min(nomer))

len(list) [NnuHa cnucka (pyHKunsa)  nomer=[12,34,23,45]
print(len(nomer))



MeToabl CMNCKOB
| Meron | Haswavewwe | Tpumep

sort CopTupoBKa cnucka
reverse PeBepc cTpoku
count KonnyecTtBo BXOXXOEHUN

NOoACTPOKU B CIMNUCKE, ECITN

HeT coBnageHumn - 0

Index HanTtun nHgekc nepsoro
BXOXOEHUNS KOHKPETHOro

AJfIeMeHTa

nomer=[12,34,23,45]
nomer.sort()
print(nomer)

Peaynbrart: [12,23,34,45]
nomer=[12,34,23,45]
nomer.reverse()

print(nomer)
Peaynbrart: [45,23,34,12]

list.count('TO YTO ULLEM')

nomer=[12,34,23,45]
print(nomer.index(23))
Peaynbrar: 2



3agayu

» J1aH cnnucok: rating=[15,87,54,23,14,78]
OnpenenunTsb:
1. ANWUHY CNKUCKa;
2. HOMep MMHMMAanNbHOro banna PpenTuHra;
3. BbIBECTU MaKCUMarbHbIN Bann penTuHra.

BbiBECTU CNNCOK, YNIOPAA04YNB €0 Mo
yObIBaHUIO



